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EXN: otE2AL D
M AaHy
SRl AEHF N L RN EERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 13,850 5,000 8,850
O8XNES 13,850
T2 S 11,040,520 5,435,020 5,605,500
g 1,757,000
= 9,283,520
=& X 5,997,000 1,400,000 4,597,000
g 1,757,000
= 4,240,000
248 2% S 600,000 200,000 400,000
401 AlEHIZL £ 0HY| 600,000 200,000 400,000
01 Al&H| 600,000 200,000 400,000
Og&8 2% sxZZ& 600,000
Atarool2 AT (KA AS) 3,497,000 1,200,000 2,297,000
Fag 1,757,000
= 1,740,000
401 Al HI L £ 0HHI 3,497,000 1,200,000 2,297,000
Fag 1,757,000
= 1,740,000
01 Al& H| 3,497,000 1,200,000 2,297,000
odtgto|od Neeg X4 3,497,000
g 1,757,000
= 1,740,000
CM~ESE S22 ZAAZA 1,700,000 0 1,700,000
401 AlEHIZ 201 Y| 1,700,000 0 1,700,000
01 Al&H| 1,700,000 0 1,700,000
OEHE~=SXsEs T2 EZHZ2A 1,700,000
HENI2~83 82 2 SEE 200,000 0 200,000
401 AlEHI 2L 2 0HY| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
O#H=EWAZ2~sd2t 2 S 200,000
sHEE=2 81 & 200,000 700,000 A 500,000
HE~LQoI2t sHEZZESZH 200,000 0 200,000
401 AlEHIZL 2 0HY| 200,000 0 200,000
01 Al&EH| 200,000 0 200,000
OHE~RSIY sHEEZZE ST E 200,000
TE2ERAN BELAY 2,341,320 3,327,820 A 986,500
o2 ¥ sHEEE SAES 1,637,420 2,977,420 A 1,340,000
201 et | 4,000 4,000 0
02 B232%H| 4,000 4,000 0
OEz=zXE S22l 4,000




2AN: AL D
By c2 sua
tel: S2RX BxAY (SH9: &)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
202 (4] 7,128 7,128 0
01 2L Y] 7,128 7,128 0
Oz H2HEE2FA 7,128
203 ¥R =Xt 1,000 1,000 0
03 Al =X AR F=XY| 1,000 1,000 0
OEZ A HFEA 1,000
206 M = Hl 28,000 28,000 0
01 = bl 28,000 28,000 0
Otz 242 XM 8,000
OE2od AIEZ2 XM 20,000
401 Al HIL 20| 1,597,292 2,937,292 A 1,340,000
01 A& bl 1,592,000 2,152,000 A 560,000
O UEAAHR SX™BXZ EXI(14]) 30,000
OFH 24 Hi2=Z &l (20m) 30,000
OdE AE SHEZ 22035 H HIx=AIEHHI(5
00m) 300,000
Oz WS 2254 BH4E=2EH|(130m) 100,000
O E48 sHEEZ 23045 ndxtz | 80,000
O2% 2495 sHEEZZ MEH(1.2km) 110,000
OFH & =HET2 A A HI(30m) 40,000
Ougy 84 & B 150,000
O X &M 500,000
Ounx=4dxse &x 2 B 30,000
OsXE= 200,000
OE=HEX B Hy| 22,000
03 Al& 201 Y] 5,292 5,292 0
Oz2t & sHEEZZ RAEH AIE2Ub] 5,292
2T Y S0ECR HEEN 243 200,000 50,000 150,000
401 Al HIL 201 200,000 50,000 150,000
01 A& HI 200,000 50,000 150,000
Oz2& & sHEEZ HEZEX B3 200,000
ZyI2rel ¥ Aol 364, 100 207,600 156,500
201 et A | 191,600 175,100 16,500
01 AFR2 2t 2l Yl 125,100 108,600 16,500
O4diiiH & 22227 E20A
8,000& * 209 * 40 6,400
O&dlgxz 5,000
OoM&EEdgT AXE 5,500,000& = 501 » 3& 82,500
ONMEZE HANE ROAHBIAIAE S|
100,000& * 128 1,200




AN AL D

Y 2 2R
9 SRR E4&AY (el & e)
= d =
SA- - H2A(3A) - MRANEY - BES Ofl &4 4 %ll&ﬁ Hns2
OE2:¢ HAX 2x=2 30,000
02 232l 66,500 66,500 0
O Il KXl 5,000
OAHEHII & 222 KXY 5,000
OJIHE sl 1,500
OZA&ZI| L M&I| KXY 5,000
ODLHHI KX b 2,000
OUXFH (MEREZ)R X HI
1,500,000 * 404 * 3% 18,000
OEZE 222 Ma) | 15,000
OE2E+A AR 2223
500,000 * 12 6,000
OUSXMItE 2=TH R el 9,000
206 = Hl 155,000 5,000 150,000
01 M2l 155,000 5,000 150,000
O=2FHI8 FHI(73) 5,000
OMEXH 7 150,000
405 Xt &HE S b 17,500 27,500 10,000
01 AL 2B H S 17,500 27,500 10,000
OEHEZHE M 3,500,00081 = 5CH 17,500
Jene fds 29 2,800 2.800 0
201 et A Y| 2,800 2,800 0
01 At 22l 2,800 2.800 0
OJl&sXe fAds ZHHrg
70,0008 * 10% * 43 2,800
5 YL SHECR MEBET HAMNY 137,000 0 137,000
401 Al 2HIZL 2 THHI 137,000 0 137,000
01 Al&H 137,000 0 137,000
Ol 82 SOEE2 =Y &R (350m) 20,000
OZY &S DISTY2 OFA2 4 2D (200m) 20,000
O&E4 22 DISTY2 24(80n) 20,000
OZ4 WS OtStH4+2 Zul(100m) 20,000
o2z 245 ij+2 &X(160m) 20,000
Oa4 LM S0EC 22045 & ZH(135m) 20,000
OMEBEE HAAMY MALHESS
17,000,0008 * 1Al 17,000
FOl HOALY 2,500,000 0 2,500,000
Hololl 2 &y MYs2 He 1,500,000 0 1,500,000
1 Al HIZL 2 1,500,000 0 1,500,000
01 Al& 1,500,000 0 1,500,000
OXotolH 28 E TYT2 HE 1,500,000




AN AL D

N £ TR
Shol: Dl A0 ALY EERED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=24 2421 JIE2 HE 800,000 0 800,000
401 Al HI K 201 I 800,000 0 800,000
01 A& Bl 800,000 0 800,000
O 2212 M4 800,000
St s MYE2 e 200,000 0 200,000
401 Al HIZ 201 Y] 200,000 0 200,000
01 A& HI 200,000 0 200,000
Otga Nos2d MAEZ e 200,000
SR SHNEHER 24 2,200 7,200 A5,000
E2H SHEHES HE(DNZ) 2,200 7,200 A5,000
203 YR =&t 2,200 7,200 A5,000
03 A FAH S =AY 2,200 7,200 A5,000
OAEAS AIRMFE 2,200
A2 2 HOYAMY 8,793,752 9,647,752 A 854,000
< 100,000
[ia 8,693,752
272 XNGMNL A 8,793,752 9,647,752 A 854,000
< 100,000
[ia 8,693,752
201523 |A 2 2el 100,000 150,000 A 50,000
401 Al HIZ 201 8] 100,000 150,000 250,000
01 A& HI 100,000 150,000 A 50,000
Oozols2& &1 10,000,000& * 5JH £ 50,000
Oool&s2d FANE=> 50,000
A2 FU=RAY 1,677,752 5,258,752 A 3,581,000
202 O4dl 4,752 4,752 0
01 = LH 4 Hi 4,752 4,752 0
OAAS ZU=SANY £ 4,752
401 AIEHI L 2 CHYI 1,673,000 5,254,000 23,581,000
01 A& HI 1,663,000 5,244,000 23,581,000
OAREAIE RAE=H 200,000
Ol &J| OtSEEHFHIZE I AH(A=150m) 30,000
Ozs HasS 0tA2I N 2T 3 AH(L=600m) 40,000
O&A X 22X dl= AHL=300m) 100,000
OHE Alol@ ti+=Z & Hl S AHL=60m) 40,000
O2% 34 == dHl 3 AH(L=120m) 35,000
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2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
= 70,000
01 A& HI 140,000 0 140,000
OFF OlEsts AWSEY(14) 140,000
T 70,000
= 70,000
FRAEAIGE A9 200,000 1,712,000 A 1,512,000
401 AIEHIL 20| 200,000 1,712,000 A 1,512,000
01 A& bl 200,000 1,712,000 A 1,512,000
QUi M8 == EH(L=555m) 30,000
Oax 24681 ERSHNEIAMNHAFY 170,000
THOIE SEE A 100,000 100,000 0
& 30,000
= 70,000
401 Al HI L 2 0HHI 100,000 100,000 0
& 30,000
= 70,000
01 A& HI 100,000 100,000 0
OFHA &E2 == Z X (L=350m) 50,000
< 15,000
= 35,000
O3 2E == I H(L=300m) 50,000
& 15,000
= 35,000
AR BZ2AE BA2 30,000 30,000 0
401 Al HI YL 2 0HHI 30,000 30,000 0
01 A& HI 30,000 30,000 0
OA2R2 S3AE Ba3 30,000
=& ¥s-w Motd 2,000,000 0 2,000,000
401 Al HI L 2O Hl 2,000,000 0 2,000,000
01 A& HI 2,000,000 0 2,000,000
O=2& AsZuw Moits 2,000,000
MESH G AAFS 3,438,000 0 3,438,000
401 Al HI L 2 THHI 2,960,000 0 2,960,000
01 Al &bl 2,960,000 0 2,960,000
OlA S OISAH2L A HM LRI B A 20,000
Ol Y DtStH=2 & X3 A 11,000
O A QLA OFAZ2 NI B AL 11,000
Ol SE2 DIS U2 XA TS AT A 17,000
Ol =& DS 2 H I ESA 20,000
Qi J|= DS HESSA 20,000
Qi AASES s2 EZE S AL 20,000
OZE2 AlJ| OIS AFHEHI S A 20,000
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SN ALY
M A2 HYAMH
S AFE XFHL ALY (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OZE HE OS2 HEFZA 10,000
OZd= &Y NSAZHEF=ZA 20,000
O&o S OtSEHMEX 10,000
OAtel ol Dt=EHXdZA 8,000
OAtel tHE OtSEHEd 3 A 8,000
OAtel 24 DtSgHId3A 8,000
OAtel &Hel OtS2aHZ 83 A 20,000
OAMtel =& (F)0tS3l2E H S A 20,000
ot& F ol 1,567,000 4,971,000 A 3,404,000
= 905,000
= 662,000
StEdEH & |X2el 1,567,000 4,971,000 A 3,404,000
= 905,000
[ 662,000
Aot sX2el 100,000 100,000 0
401 Al HIZ 201 8] 100,000 100,000 0
01 A& HI 100,000 100,000 0
OX&std |2l 100,000
Aot Hl 150,000 0 150,000
401 AIEHI L 201 150,000 0 150,000
01 A& HI 150,000 0 150,000
OFA 2™ XL6tE AW &HH(15m) 50,000
OZF4 AA XgotA 100,000
=JtotE S A 22l 412,000 0 412,000
401 Al HIZ 201 8] 412,000 0 412,000
01 A& HI 412,000 0 412,000
O=Jtotd Rl &c 12,000
Oogd 2JlotA(s=E
70m) 400,000
2N HRNES(2X) 905,000 3,221,000 ~2,316,000
= 905,000
401 AIEHI L 2 CHYI 905,000 3,221,000 A 2,316,000
= 905,000
01 A& HI 905,000 3,221,000 A 2,316,000
O=Jtotd RANE= 905,000
= 905,000
- THoHCHE &Zgh2tel 30,416,260 39,091,773 A8,675,513
= 9,522,130
< 2,893,628
s 18,000,502
THHCH 2 2tel 622,108 457,471 164,637
= 8,130
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EXN: otE2AL D
M T WO Sl
CHRl: THLHOH = 22 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 7,160 7,160 0
= 3,580
& 1,074
= 2,506
01 AP 22| H| 7,160 7,160 0
2=0] AL A X 7,160
= 3,580
= 1,074
= 2,506
=2=0| ot& 2Ztel 193,200 181,800 11,400
101 @121 | 183,200 171,800 11,400
04 JIZtHI22XNSE S 183,200 171,800 11,400
O2s0l o4&l 22Y
73,280 * 20 * 125 183,200
201 gEt24Ay| 10,000 10,000 0
01 AP 22| d| 10,000 10,000 0
O2=0| td22 2 IS & HH|
200,000& » 209 4,000
O2=0| otd2e 2= HE 3,000
O8=0| tdgE 2 3,000
2=0 ¥R EE 7¢ 7,020 7,545 AN525
& 2,106
= 4,914
201 LBt ]| 7,020 7,545 A 525
& 2,106
= 4,914
01 AP 22| H| 7,020 7,545 A 525
O2=0] 9gRss8E 7Y 7,020
& 2,106
= 4,914
NEXNSUTHE 2 (XHH) 30,920 25,640 5,280
201 et Y| 11,000 11,000 0
02 B232%H| 11,000 11,000 0
OoXgxsdidtad 28I
55,0008 = 200¥H 11,000
301 et A =2 6,320 1,040 5,280
09 HAIAHI XIS 2 6,320 1,040 5,280
OXEXsUME s 3o & A HA
8,000& * 30¥ x 13 240
OXNgXse et nsaEA Bak
40,0008 * 10¥ * 23] 800
OXNgexsgdist A8
8,800& * 10Y = 2Al2t * 303 5,280
307 2iz2to| A 13,600 13,600 0
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2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 840
s 1,960
otdEotat 23 4,000 4,000 0
< 1,600
s 2,400
301 LEMZ 4,000 4,000 0
< 1,600
s 2,400
09 HALAHIX RS 4,000 4,000 0
Ot o2 2 4,000
< 1,600
= 2,400
=0/ ZH0H gxz 7,500 0 7,500
201 LBt 7,500 0 7,500
01 At 22l 7,500 0 7,500
O=2s=0 ZHold ¢xX=  2,500,000& * 304 7,500
S0/ oI ML 3,000 0 3,000
201 Let24E] 3,000 0 3,000
01 At 22l 3,000 0 3,000
O=2=0 ZHold ®II&X bl 3,000
HotH S A 13,000 0 13,000
201 Let24d] 13,000 0 13,000
01 At 22/l 13,000 0 13,000
OMLtetM S A Chat]| 1,300,000& * 10CH 13,000
Met2te| ehdEH L Fi| 194,040 0 194,040
301 LEAZ 194,040 0 194,040
12JEEd= 194,040 0 194,040
OFeg AAE(ASD, ZXI]) XA
45,000 = 4,312t 194,040
XHoH CH =4 2t el 248,753 237,347 11,406
< 12,463
s 236,290
MHoholeg 2 45,976 41,176 4,800
201 Let24d] 37,400 32,600 4,800
01 At 22l 30,600 30,600 0
ONdiss=+ &H Xz 20,000
OTolol e E2 =2 60,000& = 20& 1,200
OWEE AS2Z Mouy 22 M=
500& * 4,800% 2,400
OXNSMZA & SFAHE =AM WA
35,000& * 40= 1,400




SA: QEALD

M MWL - THoHOH 2 St

SRl THOHCHZ 2t2] (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Ol SEEEZTHSY A ME
40,000& * 402 1,600
OMLt2e I H 24| 1,000,000& = 43| 4,000
02 332494l 6,800 2,000 4,800
Ost=8E 3yl 1,000,000& = 13 1,000
Osgt=5td & 3l Hl 1,000,000& = 13 1,000
OXINEEBAIAE HILRZ2 400,000 ~ 12& 4,800
202 O B 7,776 7,776 0
01 2L Y] 7,776 7,776 0
OlMfiegg: =4 7,776
203 ¥R =&H| 800 800 0
03 AIHZ=XIH R =X Y| 800 800 0
O Al ZH F=& 800
MoHE24a X 3,000 3,000 0
302 Ol =L ol E A2 3,000 3,000 0
02 QIO E =ERES2 42 3,000 3,000 0
OMafogy & =572 24 3,000
ZL200 BEEH(EX) 24,926 18,320 6,606
< 12,463
= 12,463
307 2I2t0| ™ 24,926 18,320 6,606
< 12,463
= 12,463
06 282 24,926 18,320 6,606
OEExdll 282 XN 24,926
& 12,463
= 12,463
Z400 2 (XA) 500 500 0
201 Bt A b 500 500 0
01 AFR2 2t 2l Yl 500 500 0
O2xdl28 E22 M 500& * 1,000% 500
Moo AlE - &Hl 29 150,451 150,451 0
201 LEt2AY| 150,451 150,451 0
02 332494l 150,451 150,451 0
OML ol - BEAE s 33,240
-SAHAIX &&=
500,000& * 1oHA = 128 6,000
-HSAIEE 7,000& * 8HA x 128 672
~&HIIANIEE 8,000& * 15004 = 128 1,440
-OlHY! &= 30,000& = 50 A = 128 1,800
-COMA AlE2 = 20,000 * 400HA = 12& 9,600




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
-HM83Hd AHEE 88,0008 x 130HA » 128 13,728
OML 0ol - BEAE RAE=> 117,211
-SRI BAIE  1,358,760,0002 * 7/100 95,114
M2 & E 57,150,000& = 7/100 4,001
-A &I 55,000,000& = 7/100 3,850
-MHHEE CCTV 45,560,000& * 7/100 3,190
-ANESSHEESZAAE 43,480,0009 = 7/100 3,044
-X&AEE AHFII 78,729,000& = 7/100 5,512
-XNEIMEE H=E2e T2
25,000,000& = 10/100 2,500
=2 A & FHHl2el 5,000 5,000 0
206 M= Hl 5,000 5,000 0
01 M2 4l 5,000 5,000 0
Ox=&MHEs+ 2 5,000
ESUH 13,900 13,900 0
201 Let24dy] 13,900 13,900 0
01 At 22/l 13,900 13,900 0
OZgidl 222 M 10,000
O = 1,300& = 10t * 53] * 60 3,900
Xl & CH 24 5,000 5,000 0
201 et 5,000 5,000 0
01 At 22l 5,000 5,000 0
OXXUE S22 MH 5,000
Mol ?&ActE Hbl 10,472,399 10,452,602 19,797
A0HE FHI 2,925,699 2,790,602 135,097
401 AIEHI L 20 2,925,699 2,790,602 135,097
01 A& tl 2,695,000 2,780,000 85,000
Oua SEHZ A0t FHI3AH(140m) 70,000
OXFA Jteis A6H&E HUISAH(100m) 50,000
O&4Y &3 A56t& FUI3AH(120m) 120,000
OZ4d &tz A& (ot®) & HIZAH50m) 25,000
O2& Y A5t& ZHI3AH(730m) 300,000
Oz a2 Aota A3 AH(200m) 200,000
OFF UM A5HA FUIZAH(14) 300,000
OF® stel A5tA FHl 3 AH600m) 300,000




et AL Bt
THEr - THOHCH 2 S &2k el
THoll ?I & A35t& FHl

SN HH-S(BN) - MBAY - B il HlnE2
OFF I A6HA ZHI 3 AH800m) 300,000
O&ot 84 A56t& ZHlI 3 AH800m) 300,000
OFeot 225 AotA AUl 3 AH(340m) 120,000
OAtel ZS A56t& ZHl 3 AH(180m) 100,000
OAtel Zab ASHAE & Ul S AH90m) 100,000
Oazx =& A0tA AUl 3 AH(205m) 35,000
Oiz =5 A56H& FHIZ2AH(120m) 60,000
O=2% &2d™ A5t& Z 43 AH300m) 100,000
O=2% & A5ta& F 43 AH(200m) 200,000
O2d & 2U2 Lo6td Hdl= AH(50m) 15,000
02 Zeltl 220,699 0 220,699
OAactd ZFHIAY S8 2l 220,699
03 Al =2 0HHI 10,000 ,602 A 602
OZctE HHl AIE SR04l (0.25%01 LK) 10,000
Lotd R - B 151,000 ,000 A 35,000
401 Al B2 2B 151,000 ,000 A 35,000
01 A& HI 151,000 ,000 A 35,000
O4ictd SXNE= 80,000
Oadtd &4 & ==2HMA 70,000
OA%td DI=2EX 24 1,000
3 A6t HUl(HEALY) ,031,000 ,000 900,000
401 Al B2 2B ,031,000 ,000 900,000
01 A& bl ,031,000 ,000 900,000
OFH Actd FHI(HE) ,031,000
otz AGHE HHI(MEH(HEAY) ,407,000 ,000 2,114,000
401 AIEBIZ 28I ,407,000 ,000 2,114,000
01 A& HI ,407,000 ,000 2,114,000
0otz Aotd Hyl(&a) ,407,000
AW A6t HUI(ME)(HEAY) 500,000 0 500,000
401 Al Bl 28I 500,000 0 500,000
01 A& HI 500,000 0 500,000
OXU aot& ZHI(HE) 500,000
oOtols AotA MU(H&)(HEAIY) 900,000 1,000,000 A 100,000
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AN AL D
A THE - THOHOH = B &2t
&2 Mol &ot® Hl (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 5,543,000
OHOIA THOHRAEIME X HHIA 3,838,000 6,000,000 A 2,162,000
= 1,919,000
< 576,000
s 1,343,000
401 Al HIZ 201 Y| 3,838,000 6,000,000 A 2,162,000
= 1,919,000
< 576,000
s 1,343,000
01 A& HI 3,838,000 6,000,000 A 2,162,000
Oetgl® THoll I E X+ HHl 3,838,000
= 1,919,000
< 576,000
s 1,343,000
2Z HoHRAEMEX T ZHIAY 2,000,000 2,000,000 0
= 1,000,000
< 300,000
[ia 700,000
401 AIEHI L 2 CHYI 2,000,000 2,000,000 0
= 1,000,000
< 300,000
[ 700,000
01 A& HI 2,000,000 2,000,000 0
O%E MollAEIHLX = ZHl 2,000,000
= 1,000,000
< 300,000
s 700,000
2 MHoHAE ML X ZHIAY 1,000,000 1,600,000 A 600,000
= 500,000
< 150,000
[ia 350,000
403 MHXSHHSA=0l& 1,000,000 1,600,000 A 600,000
= 500,000
< 150,000
s 350,000
02 S 2S0CHE A = H 2 & AL H 1,000,000 1,600,000 A 600,000
O72 MollAFMLX T ZHl 1,000,000
= 500,000
< 150,000
[ia 350,000
S+ Ssold23 SESFH ALY 4,000,000 6,000,000 A 2,000,000
= 2,000,000
< 600,000
e 1,400,000
401 Al HIZ 2018 4,000,000 6,000,000 A 2,000,000
= 2,000,000
< 600,000




EXN: otE2AL D
Mz THLE - THOHCH 2 =g 22l
Ee: MolAEatE H| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 1,400,000
01 Al&H| 4,000,000 6,000,000 A 2,000,000
O=c SLoldMEd =& 3| 4,000,000
= 2,000,000
o= 600,000
= 1,400,000
MNEXF? SLoldEd SSHYAMY 2,000,000 2,000,000 0
= 1,000,000
=} 300,000
= 700,000
401 Al HI L E0HHI 2,000,000 2,000,000 0
= 1,000,000
= 300,000
= 700,000
01 Al& H| 2,000,000 2,000,000 0
OXE Exdlded SE3H| 2,000,000
= 1,000,000
& 300,000
= 700,000
2E MolFIEMHE X P HH AL 2,000,000 0 2,000,000
= 1,000,000
&< 300,000
= 700,000
401 AlEHIZL 2 0HY| 2,000,000 0 2,000,000
= 1,000,000
= 300,000
= 700,000
01 Al&H| 2,000,000 0 2,000,000
OFRE NHMMHRIEMS X A 2,000,000
= 1,000,000
o=} 300,000
= 700,000
oftst TtAHATHOHRAEIHSE X 2 E YA 1,000,000 0 1,000,000
= 500,000
& 150,000
= 350,000
401 Al HI L £ 0HHI 1,000,000 0 1,000,000
= 500,000
= 150,000
= 350,000
01 Al& H| 1,000,000 0 1,000,000
Oos MHolAE WA X+ HH| 1,000,000
= 500,000
& 150,000
= 350,000
S dAMX SURAE X2 EH| 3,190,000 2,000,000 1,190,000
= 1,595,000




SA: QEALD

A THE - THOHOH = B &2t
&2 SZAX SUASZ X H| (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 478,500
s 1,116,500
SEAMA RIJEEANAH 2= 600,000 1,800,000 A 1,200,000
= 300,000
< 90,000
s 210,000
401 Al HIZ 201 I 600,000 1,800,000 A 1,200,000
= 300,000
< 90,000
fia 210,000
01 A& HI 600,000 1,800,000 A 1,200,000
OAMelXI= S3AR ZIJZEANAE 2= 300,000
= 150,000
< 45,000
[ia 105,000
O&Es2X 7 23 AKX ZINZBEALE A= 300,000
= 150,000
< 45,000
i 105,000
QEXNTF SZAX SUASEXNS Hl 790,000 200,000 590,000
= 395,000
< 118,500
s 276,500
401 A& HIZ 201 I 790,000 200,000 590,000
= 395,000
< 118,500
s 276,500
01 A& HI 790,000 200,000 590,000
O2EXF SZ AKX SUAE XS FHI 790,000
= 395,000
= 118,500
[ia 276,500
FEXNT SZANESLRE XS EH 200,000 0 200,000
= 100,000
< 30,000
e 70,000
401 Al HIZ 201 8] 200,000 0 200,000
= 100,000
< 30,000
s 70,000
01 A& HI 200,000 0 200,000
OEXNF SZAX SUASEXNS Hl 200,000
= 100,000
S 30,000
s 70,000
otk = SZAXNSAUAE NS HUlALS 600,000 0 600,000
= 300,000
< 90,000




SA: QEALD
M TG WO San
Cel 2EAX 2UAEX T H| (SHol: @)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

HJ

210,000

401 AIEHIZ 2 THHI

MR

600,000
300,000

90,000
210,000

600,000

01 A& Hl

ORotX= S3MA SUASEX L EHHl

Mo

600,000

600,000
300,000

90,000
210,000

600,000

Al X7 SZ AKX SUAS NS EHI AL

U RN

500,000
250,000

75,000
175,000

500,000

401 AIEBIZ S CHYI

U AT

500,000
250,000

75,000
175,000

500,000

01 A€ dl
OAtel X7 S Z ALK SIS XS FHl

MW

500,000

500,000
250,000

75,000
175,000

500,000

NE22XNF sZAMNSAUAE NS HH A

HH A

500,000
250,000

75,000
175,000

500,000

401 AIEHIZ 2 I

HH A

500,000
250,000

75,000
175,000

500,000

01 A& dl
OXE2X T =ZAX SUAEX Y H|

EURL R

500,000
500,000

250,000
75,000
175,000

500,000

>

Hol 2 & X Fil

45,000

20,000

25,000

Mol A XS =Xl2el

45,000

20,000

25,000

401 AIEHIZ 2

45,000

20,000

25,000

01 A& HI

45,000
45,000

20,000

25,000

M

135,347

7,975
127,372

149,990

A 14,643

H

135,347
7,975

149,990

N 14,643




SN ALY
M NESSSLAMA =
Sel XYM PE CER-ED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 127,372
bz 48X 108,890 108,890 0
308 AXISHXMSO0IH 53,640 53,640 0
10 b2 dXNJAFZAEX 53,640 53,640 0
OAIR4 29Hl K& 18,240
-0H 220 224
100,000 = QI CH = 12& 10,800
-H 28l 2222 7,440
cTely |X 30,000 = QIHCH = 128 3,240
- BorA| 70,000 * 5JHCH ~ 12& 4,200
Onszsd XA 11,400
-E8ll =24 1,000
- EYE RI|/EHE ~52AX2 5,400
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